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Question Bank

1. What is the HCF of 16 and 32?

A. 4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PJ7tvJm5HcKj


B. 12

C. 16

D. 20

Answer: C

Watch Video Solution

2. If the
 probability of winning a game is 0.3,

what is the probability of loosing it?

A. 0.5

https://dl.doubtnut.com/l/_PJ7tvJm5HcKj
https://dl.doubtnut.com/l/_vBgXHeCJBYQb


B. 0.3

C. 0.7

D. Not defined

Answer: C

Watch Video Solution

3. A sector is cut from a circle of 21 cm

diameter. If the angle is  then what will be

its area? 

(Use )

150∘

π =
22

7

https://dl.doubtnut.com/l/_vBgXHeCJBYQb
https://dl.doubtnut.com/l/_OYmGwKGZBc8J


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

144.38cm2

150.21cm2

121.82cm2

151.27cm2

4. Give the polynomial of degree 2 with sum

and product of its zeros as  and -3

respectively:

−
1

2

https://dl.doubtnut.com/l/_OYmGwKGZBc8J
https://dl.doubtnut.com/l/_9fowcFeZVksX


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x2 − x + 6) = 0

(2x2 + x − 6) = 0

(x2 + x − 3) = 0

(x2 − 2x + 3) = 0

5. Graphically, the pair of equations 

 
6x − 3y + 10 = 0

https://dl.doubtnut.com/l/_9fowcFeZVksX
https://dl.doubtnut.com/l/_9S15I6kMHzIW


 


represents two lines which are

A. Intersecting lines

B. Coincident lines

C. Parallel lines

D. Can't decide

Answer: C

Watch Video Solution

2x − y + 9 = 0

https://dl.doubtnut.com/l/_9S15I6kMHzIW


6. What should be the factors of denominator,

so that a rational number can be expressed, as

teminating decimal?

A. 2 or 5

B. only 2

C. only 5

D. 2 and 5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fW56VHIuAn8U


7. If the circumference of a circle is eqaul to

the perimeter of a square, then what will be

the ratio of their areas ? (Where )

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

π =
22

7

14: 11

21: 1

11: 4

5: 7

https://dl.doubtnut.com/l/_EUD5AfuxJfMX


8. Has the rational number
 
 a

terminating or a non-terminating decimal

representation?

A. Terminating

B. Non-terminating

C. Neither

D. Not

Answer: A

Watch Video Solution

441

22 × 57 × 72

https://dl.doubtnut.com/l/_JaJ3JOA34aJX


9. Find the coefficient of  in 

.

A. 3

B. -3

C. 2

D. -2

Answer: C

Watch Video Solution

x0

x2 + 3x + 2 = 0

https://dl.doubtnut.com/l/_mzgQwLQlltjW
https://dl.doubtnut.com/l/_R0HZKjJyPwld


10. What is the HCF of the
smallest composite

number and the smallest prime number?

A. 2

B. 1

C. 3

D. 4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_R0HZKjJyPwld


11. If the HCF of (336,54)=6, find the LCM

(336,54)

A. 336

B. 54

C. 3024

D. 6

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bTcwgzwrE0Zm
https://dl.doubtnut.com/l/_5TXzkGcU6CEu


12. Find the distance of the point A(8, -6) from

the origin.

A. 12

B. 86

C. 8

D. 10

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5TXzkGcU6CEu


13. Find the roots of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + = 2
1

x

14: 11

1: 1

11: 4

5: 7

https://dl.doubtnut.com/l/_nSrARSr5eCjq


14. Calculate the value of c for which pair of

linear equations cx - y = 2 and 6x - 2y = 4 will

have infinitely many solutions.

A. 5

B. 6

C. 3

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UI2uisU25gDu


15. The radii of two concentric circles are 4 cm

and 5 cm. The difference in the areas of these

two circles is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9π

16π

25π

32π

https://dl.doubtnut.com/l/_1sbM8mENtHcd


16. If  and  then

the value of  is:

A. 2500

B. 5000

C. 3000

D. 4000

Answer: A

Watch Video Solution

x + y = 2500 x − y = 2500

x

https://dl.doubtnut.com/l/_3vnhvW6Gqya0
https://dl.doubtnut.com/l/_q6TGmUw78GoL


17. Which triogonometric ratio related the

adjacent side and opposite side of the right-

angled triangle?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin θ

cos θ

tan θ

sec θ

https://dl.doubtnut.com/l/_q6TGmUw78GoL
https://dl.doubtnut.com/l/_XXfKqKhFmRyO


18. If  then

the required polynomial is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x =
8 ± √( − 8)2 − 4 × 3 × 2

2 × 3

3x2 − 8x + 2 = 0

2x2 − 8x − 2 = 0

3x2 + 8x − 2 = 0

3x2 + 8x + 2 = 0

https://dl.doubtnut.com/l/_XXfKqKhFmRyO
https://dl.doubtnut.com/l/_18TWd86xbOvE


19. The distance between the points

 is:

A. 5 units

B. 

C. 2 units

D. 7 units

Answer: C

Watch Video Solution

A( − , 2) and B( , 2)
8

5

2

5

−5units

https://dl.doubtnut.com/l/_18TWd86xbOvE


20. The values of  and  in  and 

 are:

A. 

B. 

C. 

D. 4, 2

Answer: C

Watch Video Solution

x y 2x + 3y = 2

x − 2y = 8

−4, 2

−4, − 2

4, − 2

https://dl.doubtnut.com/l/_buBc8io5d8Q8
https://dl.doubtnut.com/l/_YAAja9QGFFcZ


21. If the value of  is , then what is the

value of sec ?

A. 0

B. 

C. 

D. 1

Answer: C

Watch Video Solution

θ 45∘

45∘

2

√3

√2

https://dl.doubtnut.com/l/_YAAja9QGFFcZ


22. The distance of the point (-12,5) from the

origin is

A. 17 units

B. 7 units

C. 13 units

D. 15 units

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tzPxedINeCYK
https://dl.doubtnut.com/l/_KFEq2joB0sRa


23. Find the coefficient of  in 

.

A. 3

B. 

C. 2

D. 

Answer: C

Watch Video Solution

x0

x2 + 3x + 2 = 0

−3

−2

https://dl.doubtnut.com/l/_KFEq2joB0sRa


24. Which of the following statement is false?

A. All isosceles triangles are similar.

B. All square are similar.

C. All circles are similar

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_uVG8jyZh8jNK


25. Which among the following ratio, is not

opposite of each other?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin θ and cos θ

cos θ and sec θ

tan θ and cot θ

cos ecθ and sin θ

https://dl.doubtnut.com/l/_3aDShw9ORTKI
https://dl.doubtnut.com/l/_jBtezPVbH3BV


26. The LCM of two co-prime numbers is their .

A. product of numbers

B. sum of numbers

C. difference of numbers

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jBtezPVbH3BV


27. Suppose angle of depression from top of

the tower to point A is  and height of

tower is 26 m. What is the distance of point A

from the building?

A. 25 m

B. 26 m

C. 31 m

D. 18 m

Answer: B

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_h26yEw2ysvfq


Watch Video Solution

28. The values of  and  in  and 

 are:

A. 

B. 2, 1

C. 

D. 

Answer: A

Watch Video Solution

x y 3x + 2y = 4

2x − 3y = 7

2, − 1

−2, − 1

−2, 1

https://dl.doubtnut.com/l/_h26yEw2ysvfq
https://dl.doubtnut.com/l/_nH68Y5pNNdBS


29. A ladder 10 m long reaches a window 8 m

above the ground. Find the distance of the

foot of the ladder from the base of the wall.

A. 8

B. 2

C. 6

D. 4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nH68Y5pNNdBS
https://dl.doubtnut.com/l/_NvsVTW9drvjq


30. Complete this identity : =_____

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sec2 θ − 1

cos2 θ

sin2 θ

tan2 θ

cos ec2θ

https://dl.doubtnut.com/l/_NvsVTW9drvjq
https://dl.doubtnut.com/l/_gl2lkcnjv1x3
https://dl.doubtnut.com/l/_Ihvi9bVrchmX


31. A die is thrown twice. Find the probability

that: 

5 will not come up either time

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

23

36

25

36

13

36

11

36

https://dl.doubtnut.com/l/_Ihvi9bVrchmX
https://dl.doubtnut.com/l/_oe7Y4Q7QRxcd


32. Equation  represents a

quadratic equation if and only if ………..

A. 

B. a=b

C. a=c

D. a=0

Answer: A

Watch Video Solution

ax2 + bx + c = 0

a ≠ 0

https://dl.doubtnut.com/l/_oe7Y4Q7QRxcd


33. If the end points of a line segment AB are

A(6, 8) and (-2, -2) then its mid-point is:

A. (2, 3)

B. (3, 2)

C. (4, 6)

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ViE7HqLSN9cV
https://dl.doubtnut.com/l/_RI48UhCjveUR


34. If sec A+tan A=x, then tan A:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

x

x
1

2

x2 − 1
2x

2x

x2 − 1

https://dl.doubtnut.com/l/_RI48UhCjveUR


35. The values of x and y in  and

 are:

A. 

B. 

C. 

D. 2, 3

Answer: D

Watch Video Solution

x − y + 1 = 0

3x + 2y − 12 = 0

2, − 3

−2, 3

−2, − 3

https://dl.doubtnut.com/l/_26CfK3Nc6dp1
https://dl.doubtnut.com/l/_U93a2btgiP2h


36. Two different dice are tossed together.

Find the probability : 

of getting sum 10, of the number on the two

dice.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

6

5

6

1

12

2

3

https://dl.doubtnut.com/l/_U93a2btgiP2h


37. If  and  then

the value of x+ y is

A. 3

B. 4

C. 5

D. 6

Answer: A

Watch Video Solution

x = 2 sin2 θ y = 2 cos2 θ + 1

https://dl.doubtnut.com/l/_U93a2btgiP2h
https://dl.doubtnut.com/l/_ULl7K5df75Cu


38. For which value of p will the equation

 not be a quadratic

equation?

A. p=1

B. p=-1

C. Both (i) and (ii)

D. p=0

Answer: C

Watch Video Solution

(p2 − 1)x2 + px + q = 0

https://dl.doubtnut.com/l/_jfokLgOiTmoa


39. What is the
 probability that a non-leap

year has 53 Sundays?
 
 (b) 
 (c) 
 (d) None

of
these

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6

7

1

7

5

7

6

7

1

7

2

7

3

7

https://dl.doubtnut.com/l/_EPVq7w7xlmVQ


40. If the difference between the

circumference and the radius of a circle is 37

cm, then using , the radius of the

circel (in cm) is:

A. 154

B. 44

C. 14

D. 7

Answer: D

Watch Video Solution

π =
22

7

https://dl.doubtnut.com/l/_6CMPtDwG9991


41. Case Study-1: Some friends of class X goes

to picnic at waterpark. There were slides i.e.

water coaster, aqua loop and launch chamber

slide. 

The graph below shows the position of these 3

slides by point P, Q and R. 




Find the coordinates of the point 'Q' which

https://dl.doubtnut.com/l/_6CMPtDwG9991
https://dl.doubtnut.com/l/_kHbb5dCVrNjk


divides the line segment PR in th ratio 

internally:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 2

(4, )
13

3

( , )
13

3

11

3

( , )
10

3

13

3

( , 4)
13

3

https://dl.doubtnut.com/l/_kHbb5dCVrNjk


42. Case Study-1: Some friends of class X goes

to picnic at waterpark. There were slides i.e.

water coaster, aqua loop and launch chamber

slide. 

The graph below shows the position of these 3

slides by point P, Q and R. 

 


Find the distance between the point's P and R:

A. 2√10

https://dl.doubtnut.com/l/_Pu6seGdH18iX


B. 

C. 

D. 

Answer: A

Watch Video Solution

√36

√38

√20

43. Case Study-1: Some friends of class X goes

to picnic at waterpark. There were slides i.e.

water coaster, aqua loop and launch chamber

slide. 

https://dl.doubtnut.com/l/_Pu6seGdH18iX
https://dl.doubtnut.com/l/_z0rU9msZi8YN


The graph below shows the position of these 3

slides by point P, Q and R. 

 


Find the coordinates of point on X-axis which

is at equal distance from P and Q:

A. 

B. (3, 0)

C. 

D. (1, 3)

( , 0)
11

9

( , 0)
3

4

https://dl.doubtnut.com/l/_z0rU9msZi8YN


Answer: C

Watch Video Solution

44. Case Study-1: Some friends of class X goes

to picnic at waterpark. There were slides i.e.

water coaster, aqua loop and launch chamber

slide. 

The graph below shows the position of these 3

slides by point P, Q and R. 

https://dl.doubtnut.com/l/_z0rU9msZi8YN
https://dl.doubtnut.com/l/_7r3UCOTodJwm


 


Find the length of P and Q.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3

√4

√5

√6

https://dl.doubtnut.com/l/_7r3UCOTodJwm


45. Case Study-1: Some friends of class X goes

to picnic at waterpark. There were slides i.e.

water coaster, aqua loop and launch chamber

slide. 

The graph below shows the position of these 3

slides by point P, Q and R. 

 


If we shift the origin 'O' by 2 units towards

right and 1 unit towards. North. Then find the

coordinate of point R:

https://dl.doubtnut.com/l/_lnBtOBmj5JDL


A. (10, 4)

B. (6, 2)

C. (6, 3)

D. (8, 3)

Answer: B

Watch Video Solution

46. Case Study-2 : Herman has a single storey

house. He decided to construct a new second

storey in his house. For the construction he

https://dl.doubtnut.com/l/_lnBtOBmj5JDL
https://dl.doubtnut.com/l/_xUu6bXwPlEtv


gave contract to a building contractor. After

few days of construction he observed that

there is a defect in staircase construction, like

few stairs are big, few are small, all steps are

not of same size. Here is teh staircase as

shown in fig., connecting points A and B.

Measurements of each steps are marked in the

figure. 

 


By using which property/theorem we can

https://dl.doubtnut.com/l/_xUu6bXwPlEtv


determine the straight line distance between

end points of the stair case?

A. Thales theorem

B. Similarity property

C. Pythagoras theorem

D. Area of triangle

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xUu6bXwPlEtv


47. Case Study-2 : Herman has a single storey

house. He decided to construct a new second

storey in his house. For the construction he

gave contract to a building contractor. After

few days of construction he observed that

there is a defect in staircase construction, like

few stairs are big, few are small, all steps are

not of same size. Here is teh staircase as

shown in fig., connecting points A and B.

Measurements of each steps are marked in the

figure. 

https://dl.doubtnut.com/l/_CspTWV1hGdKK





Find the length of the straight line A and B.

A. 10 units

B. 12 units

C. 6 units

D. 8 units

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_CspTWV1hGdKK


48. Case Study-2 : Herman has a single storey

house. He decided to construct a new second

storey in his house. For the construction he

gave contract to a building contractor. After

few days of construction he observed that

there is a defect in staircase construction, like

few stairs are big, few are small, all steps are

not of same size. Here is teh staircase as

shown in fig., connecting points A and B.

Measurements of each steps are marked in the

figure. 

https://dl.doubtnut.com/l/_CspTWV1hGdKK
https://dl.doubtnut.com/l/_AzZwTUQkoKsd


 


Which of the following is incorrect with

respect to Pythagoras theorem?

A. It is applicable to right angled triangle.

B. It is also known as Baudhayan theorem.

C. The square of hypotenuse is equal to the

sum of square of other two sides.

D. It is applicable to all type of triangle.

https://dl.doubtnut.com/l/_AzZwTUQkoKsd


Answer: D

Watch Video Solution

49. Case Study-2 : Herman has a single storey

house. He decided to construct a new second

storey in his house. For the construction he

gave contract to a building contractor. After

few days of construction he observed that

there is a defect in staircase construction, like

few stairs are big, few are small, all steps are

not of same size. Here is teh staircase as

https://dl.doubtnut.com/l/_AzZwTUQkoKsd
https://dl.doubtnut.com/l/_Dukvryfc2437


shown in fig., connecting points A and B.

Measurements of each steps are marked in the

figure. 




Keeping the distance of points AC, AB and BC

same, what can be the possible height of each

stair case?

A. 1.5 units

B. 1.4 units

https://dl.doubtnut.com/l/_Dukvryfc2437


C. 1.3 units

D. 1.6 units

Answer: A

Watch Video Solution

50. Case Study-2 : Herman has a single storey

house. He decided to construct a new second

storey in his house. For the construction he

gave contract to a building contractor. After

few days of construction he observed that

https://dl.doubtnut.com/l/_Dukvryfc2437
https://dl.doubtnut.com/l/_rdbpvnoTPACI


there is a defect in staircase construction, like

few stairs are big, few are small, all steps are

not of same size. Here is teh staircase as

shown in fig., connecting points A and B.

Measurements of each steps are marked in the

figure. 




If he wants length and breadth of each stair to

be same i.e., 2 units. Then what is the new

distance between points A and B?

https://dl.doubtnut.com/l/_rdbpvnoTPACI


A.  units

B. 8 units

C. 9 units

D. 10 units

Answer: A

Watch Video Solution

8√2

51. What is the HCF of 16 and 32?

A. 4

https://dl.doubtnut.com/l/_rdbpvnoTPACI
https://dl.doubtnut.com/l/_9uoYtg6TEcJf


B. 12

C. 16

D. 20

Answer: C

Watch Video Solution

52. If the
probability of winning a game is 0.3,

what is the probability of loosing it?

A. 0.5

https://dl.doubtnut.com/l/_9uoYtg6TEcJf
https://dl.doubtnut.com/l/_3uvxLiK6bTcG


B. 0.3

C. 0.7

D. Not defined

Answer: C

Watch Video Solution

53. A sector is cut from a circle of 21 cm

diameter. If the angle is  then what will be

its area? 

(Use )

150∘

π =
22

7

https://dl.doubtnut.com/l/_3uvxLiK6bTcG
https://dl.doubtnut.com/l/_coZRyKTcCJ5I


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

144.38cm2

150.21cm2

121.82cm2

151.27cm2

54. Give the polynomial of degree 2 with sum

and product of its zeros as  and -3

respectively:

−
1

2

https://dl.doubtnut.com/l/_coZRyKTcCJ5I
https://dl.doubtnut.com/l/_Dr737QIpwUUr


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

k(x2 − x + 6)

k(2x2 + x − 6)

k(x2 + x − 3)

k(x2 − 2x + 3)

55. Graphically, the pair of equations 

 
6x − 3y + 10 = 0

https://dl.doubtnut.com/l/_Dr737QIpwUUr
https://dl.doubtnut.com/l/_MVBm3MWpIEhK


 


represents two lines which are

A. Intersecting lines

B. Coincident lines

C. Parallel lines

D. Can't decide

Answer: C

Watch Video Solution

2x − y + 9 = 0

https://dl.doubtnut.com/l/_MVBm3MWpIEhK


56. What should be the factors of

denominator, so that a rational number can be

expressed, as teminating decimal?

A. 2 or 5

B. only 2

C. only 5

D. 2 and 5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rpFl30bKcl62


57. If the circumference of a circle and the

perimeter of a square are equal, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

14: 11

21: 1

11: 4

5: 7

https://dl.doubtnut.com/l/_ocGXKo1uSWRZ
https://dl.doubtnut.com/l/_bTRgEJDMWmje


58. Has the rational number  a

terminating or a non-terminatin
 decimal

representation ?

A. Terminating

B. Non-terminating

C. Neither

D. Not

Answer: B

Watch Video Solution

441

22.5 ^ 7.72

https://dl.doubtnut.com/l/_bTRgEJDMWmje
https://dl.doubtnut.com/l/_t2qcPXdtMdV9


59. Find the coefficient of  in 

.

A. 3

B. -3

C. 2

D. -2

Answer: C

Watch Video Solution

x0

x2 + 3x + 2 = 0

https://dl.doubtnut.com/l/_t2qcPXdtMdV9


60. What is the HCF of the
smallest composite

number and the smallest prime number?

A. 2

B. 1

C. 3

D. 4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ZAIKBinWYSwK
https://dl.doubtnut.com/l/_H8wWyF7lfRbS


61. If the HCF of (336,54)=6, find the LCM

(336,54)

A. 336

B. 54

C. 3024

D. 6

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_H8wWyF7lfRbS


62. The distance of the point P(-6, 8) from the

origin is

A. 12

B. 86

C. 8

D. 10

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_K185bLKbWY00
https://dl.doubtnut.com/l/_1MPbJKfvM3Vs


63. Find the roots of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + = 2
1

x

14: 11

1: 1

11: 4

5: 7

https://dl.doubtnut.com/l/_1MPbJKfvM3Vs


64. Find the value of k for which the system of

equations  has

infinitely many solutions

A. 5

B. 6

C. 3

D. None of these

Answer: C

Watch Video Solution

kx − y = 2, 6x − 2y = 4

https://dl.doubtnut.com/l/_stwmuTFIZPgC


65. The radii of two concentric circles are 4 cm

and 5 cm. The difference in the areas of these

two circles is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9π

16π

25π

32π

https://dl.doubtnut.com/l/_FLLXjyABFQWM


66. If  and  then

the value of  is:

A. 2500

B. 5000

C. 3000

D. 4000

Answer: A

Watch Video Solution

x + y = 2500 x − y = 2500

x

https://dl.doubtnut.com/l/_XhjuIU8B8dwC
https://dl.doubtnut.com/l/_lg6FHIRvsgRw


67. Which triogonometric ratio related the

adjacent side and opposite side of the right-

angled triangle?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin θ

cos θ

tan θ

sec θ

https://dl.doubtnut.com/l/_lg6FHIRvsgRw
https://dl.doubtnut.com/l/_7HDlzJCrz0aX


68. If  then

the required polynomial is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x =
8 ± √( − 8)2 − 4 × 3 × 2

2 × 3

3x2 − 8x + 2 = 0

2x2 − 8x − 2 = 0

3x2 + 8x − 2 = 0

3x2 + 8x + 2 = 0

https://dl.doubtnut.com/l/_7HDlzJCrz0aX
https://dl.doubtnut.com/l/_4JsSa4xs3h07


69. The distance between the points

 is:

A. 5 units

B. 

C. 2 units

D. 7 units

Answer: C

Watch Video Solution

A( − , 2) and B( , 2)
8

5

2

5

−5units

https://dl.doubtnut.com/l/_4JsSa4xs3h07


70. The values of  and  in  and 

 are:

A. 

B. 

C. 

D. 4, 2

Answer: C

Watch Video Solution

x y 2x + 3y = 2

x − 2y = 8

−4, 2

−4, − 2

4, − 2

https://dl.doubtnut.com/l/_bMeWO08yJvGn
https://dl.doubtnut.com/l/_KxhrudM0LhSA


71. If the value of  is , then what is the

value of sec ?

A. 0

B. 

C. 

D. 1

Answer: C

Watch Video Solution

θ 45∘

45∘

2

√3

√2

https://dl.doubtnut.com/l/_KxhrudM0LhSA


72. The distance of the point A (12, 5) from the

origin is:

A. 17 units

B. 7 units

C. 13 units

D. 15 units

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1qIl1b0KNMk1
https://dl.doubtnut.com/l/_QgK1Pt1M4E5G


73. Find the coefficient of  in 

.

A. 3

B. 

C. 2

D. 

Answer: C

Watch Video Solution

x0

x2 + 3x + 2 = 0

−3

−2

https://dl.doubtnut.com/l/_QgK1Pt1M4E5G


74. Which of the following statement is false?

A. All isosceles triangles are similar.

B. All square are similar.

C. All circles are similar

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iVikCO8TVHz8


75. Which among the following ratio, is not

opposite of each other?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin θ and cos θ

cos θ and sec θ

tan θ and cot θ

cos ecθ and sin θ

https://dl.doubtnut.com/l/_SSGwtBWznti8
https://dl.doubtnut.com/l/_FwNkzxCKUcow


76. The LCM of two co-prime numbers is their .

A. product of numbers

B. sum of numbers

C. difference of numbers

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FwNkzxCKUcow


77. If the distance of a point from the base of a

building is 15 m and angle of elevation to its

top from that point is  . then what is the

height of building?

A. 25 m

B. 26 m

C. 31 m

D. 18 m

Answer: B

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_LTt6zj3V6Op9


Watch Video Solution

78. The values of  and  in  and 

 are:

A. 

B. 2, 1

C. 

D. 

Answer: A

Watch Video Solution

x y 3x + 2y = 4

2x − 3y = 7

2, − 1

−2, − 1

−2, 1

https://dl.doubtnut.com/l/_LTt6zj3V6Op9
https://dl.doubtnut.com/l/_t4oOxNhkwCdP


79. A ladder 10 m long reaches a window 8 m

above the ground. Find the distance of the

foot of the ladder from the base of the wall.

A. 8

B. 2

C. 6

D. 4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_t4oOxNhkwCdP
https://dl.doubtnut.com/l/_ONH9dPLCLSC5


80. Prove that-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sec2 θ − 1 − tan2 θ = 0

cos2 θ

sin2 θ

tan2 θ

cos ec2θ

https://dl.doubtnut.com/l/_ONH9dPLCLSC5
https://dl.doubtnut.com/l/_xyn8gvoCOHpz


81. A die is thrown twice. Find the probability

that: 

5 will not come up either time

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

23

36

25

36

13

36

11

36

https://dl.doubtnut.com/l/_bQywfSCklOmr


82. Equation  represents a

quadratic equation if and only if ………..

A. 

B. a=b

C. a=c

D. a=0

Answer: A

Watch Video Solution

ax2 + bx + c = 0

a ≠ 0

https://dl.doubtnut.com/l/_WNHo5mr4QG7e
https://dl.doubtnut.com/l/_cBBgW4hxNBwi


83. If the end points of a line segment AB are

A(6, 8) and (-2, -2) then its mid-point is:

A. (2, 3)

B. (3, 2)

C. (4, 6)

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cBBgW4hxNBwi


84. If 
 , then 


(b) 
(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sec θ + tan θ = x tan θ =

x2 + 1

x

x2 − 1

x

x2 + 1

2x

x2 − 1

2x

2

x

x
1

2

x2 − 1

2x

2x

x2 − 1

https://dl.doubtnut.com/l/_xqh1ELfp9VpO
https://dl.doubtnut.com/l/_HUgtAwYgTRzS


85. The values of x and y in  and

 are:

A. 

B. 

C. 

D. 2, 3

Answer: D

Watch Video Solution

x − y + 1 = 0

3x + 2y − 12 = 0

2, − 3

−2, 3

−2, − 3

https://dl.doubtnut.com/l/_HUgtAwYgTRzS


86. Two different dice are tossed together.

Find the probability : 

of getting sum 10, of the number on the two

dice.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

6

5

6

1

12

2

3

https://dl.doubtnut.com/l/_mZaVJx7vgGC2


Watch Video Solution

87. If  and  then

the value of x+ y is

A. 3

B. 4

C. 5

D. 6

Answer: A

Watch Video Solution

x = 2 sin2 θ y = 2 cos2 θ + 1

https://dl.doubtnut.com/l/_mZaVJx7vgGC2
https://dl.doubtnut.com/l/_JQbgEfXApIAS


88. For which value of p will the equation

 not be a quadratic

equation?

A. p=1

B. p=-1

C. Both (i) and (ii)

D. p=0

Answer: C

Watch Video Solution

(p2 − 1)x2 + px + q = 0

https://dl.doubtnut.com/l/_JQbgEfXApIAS
https://dl.doubtnut.com/l/_vSV0pkEQWbiN


89. What is the
 probability that a non-leap

year has 53 Sundays?
 
 (b) 
 (c) 
 (d) None

of
these

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6

7

1

7

5

7

6

7

1

7

2

7

3

7

https://dl.doubtnut.com/l/_vSV0pkEQWbiN
https://dl.doubtnut.com/l/_0Jp9Lm7rTUwg


90. If the difference between the

circumference and the radius of a circle is 37

cm, then using , the radius of the

circel (in cm) is:

A. 154

B. 44

C. 14

D. 7

π =
22

7

https://dl.doubtnut.com/l/_0Jp9Lm7rTUwg
https://dl.doubtnut.com/l/_vLiGAEKbt18x


Answer: D

Watch Video Solution

91. Case Study-1: Some friends of class X goes

to picnic at waterpark. There were slides i.e.

water coaster, aqua loop and launch chamber

slide. 

The graph below shows the position of these 3

slides by point P, Q and R. 

 


https://dl.doubtnut.com/l/_vLiGAEKbt18x
https://dl.doubtnut.com/l/_FZYuoJWdDRmr


Find the coordinates of the point 'Q' which

divides the line segment PR in th ratio 

internally:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 2

(4, )
13

3

( , )
13

3

11

3

( , )
10

3

13

3

( , 4)
13

3

https://dl.doubtnut.com/l/_FZYuoJWdDRmr
https://dl.doubtnut.com/l/_U8VEDGxp1jPw


92. Case Study-1: Some friends of class X goes

to picnic at waterpark. There were slides i.e.

water coaster, aqua loop and launch chamber

slide. 

The graph below shows the position of these 3

slides by point P, Q and R. 

 

Find the distance between the point's P and R:

A. 

B. 

2√10

√36

https://dl.doubtnut.com/l/_U8VEDGxp1jPw


C. 

D. 

Answer: A

Watch Video Solution

√38

√20

93. Case Study-1: Some friends of class X goes

to picnic at waterpark. There were slides i.e.

water coaster, aqua loop and launch chamber

slide. 

The graph below shows the position of these 3

https://dl.doubtnut.com/l/_U8VEDGxp1jPw
https://dl.doubtnut.com/l/_0E2Xh4NY51Q9


slides by point P, Q and R. 

 


Find the coordinates of point on X-axis which

is at equal distance from P and Q:

A. 

B. (3, 0)

C. 

D. (1, 3)

Answer: C

( , 0)
11

9

( , 0)
3

4

https://dl.doubtnut.com/l/_0E2Xh4NY51Q9


Watch Video Solution

94. Case Study-1: Some friends of class X goes

to picnic at waterpark. There were slides i.e.

water coaster, aqua loop and launch chamber

slide. 

The graph below shows the position of these 3

slides by point P, Q and R. 

 


Find the length of P and Q.

https://dl.doubtnut.com/l/_0E2Xh4NY51Q9
https://dl.doubtnut.com/l/_G4xWzPjr9BX1


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3

√4

√5

√6

95. Case Study-1: Some friends of class X goes

to picnic at waterpark. There were slides i.e.

water coaster, aqua loop and launch chamber

https://dl.doubtnut.com/l/_G4xWzPjr9BX1
https://dl.doubtnut.com/l/_963NHNOMvYUT


slide. 

The graph below shows the position of these 3

slides by point P, Q and R. 

 


If we shift the origin 'O' by 2 units towards

right and 1 unit towards. North. Then find the

coordinate of point R:

A. (10, 4)

B. (6, 2)

C. (6, 3)

https://dl.doubtnut.com/l/_963NHNOMvYUT


D. (8, 3)

Answer: B

Watch Video Solution

96. Case Study-2 : Herman has a single storey

house. He decided to construct a new second

storey in his house. For the construction he

gave contract to a building contractor. After

few days of construction he observed that

there is a defect in staircase construction, like

https://dl.doubtnut.com/l/_963NHNOMvYUT
https://dl.doubtnut.com/l/_bW8TAMOGuKWJ


few stairs are big, few are small, all steps are

not of same size. Here is teh staircase as

shown in fig., connecting points A and B.

Measurements of each steps are marked in the

figure. 

 


By using which property/theorem we can

determine the straight line distance between

end points of the stair case?

A. Thales theorem

https://dl.doubtnut.com/l/_bW8TAMOGuKWJ


B. Similarity property

C. Pythagoras theorem

D. Area of triangle

Answer: C

Watch Video Solution

97. Case Study-2 : Herman has a single storey

house. He decided to construct a new second

storey in his house. For the construction he

gave contract to a building contractor. After

https://dl.doubtnut.com/l/_bW8TAMOGuKWJ
https://dl.doubtnut.com/l/_dOw3uJ6kFYkL


few days of construction he observed that

there is a defect in staircase construction, like

few stairs are big, few are small, all steps are

not of same size. Here is teh staircase as

shown in fig., connecting points A and B.

Measurements of each steps are marked in the

figure. 




Find the length of the straight line A and B.

A. 10 units

https://dl.doubtnut.com/l/_dOw3uJ6kFYkL


B. 12 units

C. 6 units

D. 8 units

Answer: A

Watch Video Solution

98. Case Study-2 : Herman has a single storey

house. He decided to construct a new second

storey in his house. For the construction he

gave contract to a building contractor. After

https://dl.doubtnut.com/l/_dOw3uJ6kFYkL
https://dl.doubtnut.com/l/_m6QNMiqc77cp


few days of construction he observed that

there is a defect in staircase construction, like

few stairs are big, few are small, all steps are

not of same size. Here is teh staircase as

shown in fig., connecting points A and B.

Measurements of each steps are marked in the

figure. 




Which of the following is incorrect with

respect to Pythagoras theorem?

https://dl.doubtnut.com/l/_m6QNMiqc77cp


A. It is applicable to right angled triangle.

B. It is also known as Baudhayan theorem.

C. The square of hypotenuse is equal to the

sum of square of other two sides.

D. It is applicable to all type of triangle.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_m6QNMiqc77cp


99. Case Study-2 : Herman has a single storey

house. He decided to construct a new second

storey in his house. For the construction he

gave contract to a building contractor. After

few days of construction he observed that

there is a defect in staircase construction, like

few stairs are big, few are small, all steps are

not of same size. Here is teh staircase as

shown in fig., connecting points A and B.

Measurements of each steps are marked in the

figure. 

https://dl.doubtnut.com/l/_mOzuOCvlWL7N





Keeping the distance of points AC, AB and BC

same, what can be the possible height of each

stair case?

A. 1.5 units

B. 1.4 units

C. 1.3 units

D. 1.6 units

https://dl.doubtnut.com/l/_mOzuOCvlWL7N


Answer: A

Watch Video Solution

100. Case Study-2 : Herman has a single storey

house. He decided to construct a new second

storey in his house. For the construction he

gave contract to a building contractor. After

few days of construction he observed that

there is a defect in staircase construction, like

few stairs are big, few are small, all steps are

not of same size. Here is teh staircase as

https://dl.doubtnut.com/l/_mOzuOCvlWL7N
https://dl.doubtnut.com/l/_um8IYqFcHs4U


shown in fig., connecting points A and B.

Measurements of each steps are marked in the

figure. 




If he wants length and breadth of each stair to

be same i.e., 2 units. Then what is the new

distance between points A and B?

A.  units

B. 8 units

8√2

https://dl.doubtnut.com/l/_um8IYqFcHs4U


C. 9 units

D. 10 units

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_um8IYqFcHs4U

